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TTWR SAINIK SCHOOL (B), ASHOKNAGAR,

FOR THE ACADEMIC YEAR 2023-24

DATE OF EXAMINATION: e HALL TICKET NO:

TIME: 10:00 AM to 1:00 PM MARKS: 100

1. Read the questions carefully and answer all the questions.

2. Each question carries one mark.

3. Choose the correct answer and darken the relevant circle in the given Of
sheet with blue / black ball point pen.

4. Avoid overwriting.

5. Use of calculator, cell phone or any other electronic gadenut permitted.

6. Sheets for rough work are appended in the question agpgrat the end.

7 Nobody will be allowed to leave the examinali all till the complet
examination time. %

8.

(b) If a question is left blank, i.e., er is given by the candidate,

there will be no penalty h}Q uestion
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Section — B (English)

‘ections: Read the passage carefully and answer the questions from 21 to 25.

. There is a story of a man, who thought that he had a right to do what he liked. One day
S man w;:ns walking along a busy road, spinning his walking stick round and round in hand
F’ Was trying to look important. A gentleman walking behind him objected. “You ought not to
'n your walking - stick round and round like that”. The man said, “I am free to do what 1 like
th my walking — stick” argued the first gentleman. “Of course you are,” said th

ther man,
ut you ought to know that your freedom ends where my nose begins.” The atu@& us that

2 Can enjoy our rights and our freedom only if they do not interfere with other

le's rights
d freedom.

_ .
L. The man was moving his stick round and round to: @'

(A) Hurt other people z(.B']/Lnnk impnrtan&

(C) Make himself free (D) End his fre

)

here refers to:

3 /{_D)-’nghts and freedom

if they do not interfere with other tr
(A) Rights (B) Ends (C) Other

3. Agentleman walking behind the man&

(,M’Bh]ected (B) Argued ) Agreed (D) Laughed

4,  This is the story of a man wh t:
(A) He was a gentleman @
(B) He was civilized
(C) He could spin hg

watKing stick round and round
nterfere with other people’s rights and freedom

ur rights and freedom only:

e are free to do what we like

(B) When we know what freedom actually means
(C) When we can defend our rights

Mwen they do not interfere with other people’s rights and freedom

Eeip.



Directions: Identify the odd word out in questions from 26 t0 28.

26. /U‘-Y‘Paner (B) Pen (C) Pencil (D) Printer
27. ,H‘)/Li'r:n (B) Triangle (C) Square (D) Rectangle
28.  (A)Run (B) Walk (C) Move /(-EJT/Hearl:heat

Fill in the blanks with most appropriate option.

29. He (begin) to collect small stones on his way back Lo

2"

W& from his

regular daily walks.
(A) begins (B) has begun beg Q (D) had begun

L 2

30. He asleep while he was driving.
(A) falls ,,(.ir‘féil @as fallen

(D) none of these

31. |amsure!l him at the party last n Q
(C} has been (D) none of these

_arsaw (B) have heeb

(C) had made

(A) has gone 2487 had gone (C) went

3. We ur breakfast half an hour ago.
d (B) have finished (C) had finished
35. Doyou (like) playing football?

,w-mze ' (B) was like (C) liking

36. _The players (play) tennis next Monday.
AR will play (8) be play (C) playing

(D) had been making

(D) none of these

(D) none of these

(D) be liking

(D) play



37. Tomorrow my mother (take) us to the movie,

_',,.-{‘ﬁru'wil'; take (B) will have taken (C) take (D) taking
38. It (rain) all the year round here.
(A) rains )Bkw'ﬂl rain (C) had been raining (D) rain
39. My friends (see) the Prime Minister yesterday.
(A) see MW (C) seen (D) none of these

XN
40. Summer holidays ____in May.
(A) begins (B) begin (C) beginning &gan
o
41. Megha cricket on Sunday. @
)}mlay (B) plays (C) 9@ (D) did played
\

42: I a lot of novels after my e:u:a
W&ad (8) shall reading Q gtu read (D) will reading
43. It'svery cold today. p of tea?
(A) Shall we have {B} ave u we have (D) Are we having

44, Walk fast y I miss the bus.

(A) lest @ ) yet _terBut (D) else

g
45, Sheiss

(A) _ABtike (C) though (D) but

DirectioMs: For Questions from 46 to 48 choose the word opposite in meaning fre
options given to the word given in capital letters.

46. DIM
Wght (B) understandable (€) loud (D) clear

47.  REAR
gt (B) foreground (C) forehead (D) forward



48. YOUNG (D) quick

_iMtld (B) Big

Directions: For Questions for 49 and 50, cho©
capital

49. SECURE ©) ndepe "
(A) secret  (B) comfortable }Uﬂﬁ Q
50. FAITH »
(A) trust (8) proof /iérﬁ;—'f %E

L 2
Section—-C Mathe

51 The weight of basketball is about 700000 m @'

ss than 700 g (B) Greatert 8
(C) equal to 700 g (D) none o
52.  Ravinder Jadeja took 15 wicke runs, then his average score per wicket IS
(A) 21 runs (B) 22 n@ _/LQ-QZ.E runs (D) 23 runs

53, Ayush, Satyam and MQS ought 8.5 liters, 7.25 liters and 9.4 liters milk respectively
was 30 liters of milk in booth, find the quantity of milk left.

from a milk hnuth@
MBSU liters ) 4.508 liters (C) 5.408 liters (D) 8.450 liters

.
54. The heig cky, Bittu, Rohit and Abhishek are 1.61 m, 1
; : 2 ' () 62 cm, Al
mm ively, Who is the tallest of them all? SO0 mmand 10
{ s (©)Rohit 8 Abhishek

55.  Nitu did haif of the work yesterday and one third |
of th
e R e b6 bomblete the W € work today. How much work

(A) 1/2 ABr1/3 (C) 1/6 (D) 1/4

56. 75%75+375+25 x25=?
(B) 80 (C) 60 (D) 90



57. What goesin O in 2750 cm O 28m
A (8) > (€)= (D)=

8. Aman's bag is 2.14 kg lighter than Aja
much does Aman's bag weigh?

/,LME:E KE (B) 5.28 kg (C) 4.02 ke (D) 3.28 kg \

y's bag- The weight of Ajay’s bag is 4.72 kg. How

59. Mary bought 450 gms of Amul butter and 250 8MS of Mother Dairy buttep uch
butter in kg she bought?
(A)0.Skg - (B) Skg (C) 0.07 kg J(,Bﬁ"l.%o
60. Atea pot holds about 1800 ml of tea. How many people cgn %hey want two cups
of tea each cup having capacity of 150 mi? ’\\
)7

61.  Acitytower is 1385 feet tall with 85 stories. Th % ial building is 1505 feet with
ifg than the city tower?
L

105 stories. How much taller is the residenti
(@ WZU feet

(A) 50 feet (B) 130 feet
les. Each cloth bag holds 21 bottles and each
dents filled 17 bags then how much of juice did

hottle contains 600 ml of juice. &t
they collect? =
(A) 632 liters }3@@ s (c)e22liters (D) 214.2 liters

ilv@vs to drive to sea shore. They spent four days at the sea
khome from sea shore. If the left home early Saturday on 5'" Jan,
| they return home?

y (B) 14 Jan, Wednesday
sday /[_D)".I.S Jan, Wednesday

64. How many degrees are there in one right angle?
(A) 0° _)5}45““ (C) 100° (D) none of these

65.  Which of the following number is divisible by 11?
() 81723512 (B)34715621 (460701082 (D) 935612501

/

e between the successor and predecessor of 10,000is -

66, The difference b
l w2 }Bfl (C) O (D) -1

s (8) 3 (C) 2 @

62 Students collected cloth bags and

63. It takes Ramya’s fa
shore. They drov
what day and
(A) 14 Jan
(C)15)

* m



00 YEN number is
\8) 24000 (C) 64000 (D) 34000
68. 1h
- POpulation of :
of Children? 3 Village s 1500. If 489 are men and 472 are women, find the number
(A
8 (B) 439 (C) 559 539
83.  The value of (3-(2-3)45.7) i¢ \
VIR
(A) 2 (B)3 (C) 4 @
70.

4,9,8,7,5each used only once,

(A) 38245 (B) 53956 ,ﬁr{zaﬁs Qﬁ
71.  Which one of the following is a common factor D&NQE?

Find the difference between the greatest and least numbers th ca Wﬂt‘t"—‘n using
the digits
2484

(A) 2 (B)a (€)5

72.  Ifthe whale fish is 10 meters longer tha
shark is 150 meters long?

(A) 140 meters ‘..{‘Brfﬁu metEQtl 135 meters (D) 145 meters

73. 178 % =0

(A) 1 {B)Qs 'ﬁ. (D) None of these

74. Weightofone5 inis 9 g. If a bag of 5 rupee coine weighs 2 k
' how many cgins resent in the bag? *
fraction 1255{8 lntu mixed fraction and choose the correct option.

(B) 165 - (C) 165 P
8

76.  Which one of the following is not correct?
(A) Value of a proper fraction is less than 1
(B) Value of an improper fraction is greater than 1
~ (C) Value of equivalent fractions is same
Jree alue of mixed fraction is less than 1

k f‘sh then what is the length of whale

gand 250 g, then

(D) 235
75.

~1 | &




77.

78.

19:

81.

82.

84,

He colours all the parts with different

t into 56 equal parts.
8 how many parts did Jack coloured with

Jack cuts a paper shee
5 13/2

colours. If red parts out of total parts |

red?

(ay13, s (C) 39 (D) 52

could be packed into 3 tin that
e to be closed?

How many chocolate cubes of side 3 inches is 9 inches
deep by 12 inches wide by 9 inches high with lid still being abl

(A) 18 (B) 24 )m: (D) 36

cm will be required to pave

the floor of 3 rc@& long

How many bricks 20 cm by 10

and 5 m wide?
(A) 200 nmnﬂﬂ (C) 3500 (D) 4000 Q
&
If 15.5 liters of refined oil costs Rs.1,063.30, what is the cn&& of refined oil?
(A) Rs.68.60 _{B¥Rs.75.95 =l (o) ns.m.se.\Q ) Rs.62.55
Section - D I@.\
Which nutrients help our growth?
(A) Proteins ( @n arbohydrates
(C) Vitamins and minerals of these
What is the nature of di !@uces in stomach?
(C) Neutral (D) None of these

(A) Acidic
Which of th@whg Jre the ways in which the seeds wander from one place to

ater (B) Through air (C) Through wind W these

A circlt halfway between the North an
and Southern Hemisphere is known as

(A) Tropic ’}TChnrd _;F} Diameter (D) Equator

k-

The largest Ocean is the
(A) Pacific Ocean  (B) Arctic Ocean

d South Pole that divides the Earth into Northern

ﬁ'ldian Ocean (D) Atlantic Ocean



. The following planet is known as blue planet /Jﬁnu:ﬁ (D) Earth

(A) Mars (B) Mercury
27, Large land masses On earth are called | i
(A) Continents pyOceans (C) Countries (D)

s a receptor on the tongu

(C) Sensation: (D) None of the above

28 Which of the following act a
Lppraste buds (B) Salivary gland

2g  What will happen if you eat spoiled food? &y
Mll of tl@ e

(A) Weakness (8) food poisoning (C) headache
90. Total elected members to Lok Sabha are ‘Q
(A) 550 29 (C) 543

. ®
91. If bulky and heavy goods are 1o be sent over Iﬂng'di% ne would use
4 Roadways (B) Waterways [C] Rail % (D) Airways

92. Which is not a means of communication?
(A) Table (B) Books [CEQ@) ME of these

93. In which season do we use umb
(A)Rainy  (B) summer othAandB (D) None of these

94. Wecanget mfnrmati@uut the weather by

(A) Newspape@ (B) Television (C) Internet m of these

95. Incase burns pour plenty of immediately over it.

(A) r /ﬁld water  (C)warmwater (D) none of these

96. During______the days are longer than the nights.
(A) Monsoon (B) Winter /Mfurnmer (D) Spring
97. Mosquitoes. spa'ead |
(A) Cholera ﬁyphmd‘*\ (C) Malaria (D) Tuberculosis

l—r



98.

99.

100.

Muthes protect us from heat and sun

Which of the following is the correct way to dispOse garhage?
hrowing it on the road (B) Throwing it into pits
(C) Leaving it where it is (D) Burning it on the roads

Which of the following statements is wrong regarding use of clothes?

2"

(B) Clothes do not protect us from dust

(C) Clothes protect us from insect bites Q
(D) Clothes make us comfortable and fashionable 3
:eh: of sunlight?

Which of the following vitamins is prepared in our body w\@
(A) Vitamin “A” (B) Vitamin “B” _ef¥itamip®. D) Vitamin “K”

ooyl
a@b
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